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Answer all questions.
Each question carries 1 mark.

Gini coefficient measures :
a) Inequality. b) Correlation.
c) Regression. d) Poverty.

The Mean and Median of the values in an individual series 40, 90, 70, 80, 20 will respectively be

a) 60 and 70. b) 50 and 70.
¢) 60 and 40. d) 50 and 40.

. Who is the chairman of the Lok Sabha ?

a) President. b) Minister of Parliament affairs.

c) Speaker. d) Prime Minister.

. Which one of the following Articles empowers the President to Appoint Prime Minister of India ?

a) Article 74. b) Article 75.

c) Article 76. d) Article 77.
Which of the following exercised the most profound influence in framing the Indian
Constitution ?

a) British Constitution. b) TU.S.Constitution.

¢) Irish Constitution. d) The Government of India Act, 1935.

Who among the following is/are not appointed by the President of India ?
a) Governors of the States.
b) Chief Justice and Judges of the High Courts.
¢) Vice-President.

d) Chief Justice and Judges of the Supreme Court.
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7. ‘GaribiHatavo’ (Remove Poverty) slogan is related to which of the following Prime Minister ?
a) Javaharlal Nehru. b) Narendra Modi.
¢) Indira Gandhi. d) Rajeev Gandhi.
8. What is consumer’s surplus ?
a) The difference between what a consumer paid and willing to pay.
b) The actual price of the commodity.
¢) The extra price paid for a commodity.
d) None of these.
9. What is the role of Finance Commission ?
a) To divide the proceeds of divisible taxes between the states and the union government.
b) To mediate the disputes between the centre and the state governments.
¢) To mediate the disputes among different state governments.
d) All of the above.
10. What is tax ?
a) A compulsory payment to government without any quid pro co.
b) A compulsory payment to government.
¢) A voluntary contribution to the government by a citizen.
d) Fine and penalty imposed by government.
11. Example for direct tax :
a) GST. b) Services tax.
¢) Sales tax duty. d) Income tax.
12. Elasticity of demand means :
a) Percentage change in quantity demanded to a percentage change in price.
b) Percentage change in price to a percentage change in quantity demanded.
¢) Change in quantity demanded to a percentage change in price.

d) Change in price to a percentage change in demand.
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Which is the depended variable in the equation C = a + bY ?
a) B. b) C.
o Y. d) a.
The lone tribal Panchayat in Kerala is situated in which district ?
a) Wayanad. b) Idukki.
c) Pathanamthitta. d) Palakkad.
Total number of Grama Panchyath in Kerala ?
a) 999. b) 1001.
c) 941. d) 948.
Which country ranks top in the Human Development Index ?
a) Norway. b) UK.
c) USA. d) India.
‘Pembile Orummei’ women collective was organised in which district ?
a) Kasaragod. b) Wayanad.
c) Idukki. d) Palakkad.

The statistical technique used to determine the degree of relationship between two variables is
called :

a) Dispersion. b) Index Numbers.
¢) Association. d) Correlation.
The name of the world commission on Environment and Development is :
a) Brundtland Commission.
b) TUnited Nations Development Programme.
¢) South Commission.
d) International Atomic Energy Authority.
The process of acquiring Bitcoins is called as
a) Trading. b) Mining.

c¢) Exchanging. d) Exploring.
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First finance minister of Independent India :
a) Dr. John Mathai. b) R.K.Shanmukham Chetty.
¢) C.D. Deshmukh. d) Liaquat Ali Khan.
Who is the present Chief Justice of India ?
a) N.V.Ramana. b) Ranjan Gogoi.
¢) Dipak Misra. d) Arvind Bobde.

First Indian to win the Nobel Prize in Economics :
a) Rabindranath Tagore. b) Amartya Sen.
¢) Abhijit Banerjee. d) Kailash Satyarthi.
First Indian Governor of Reserve Bank of India :
a) P.C. Battacharya. b) C.D. Deshmukh.
¢) B.N. Adarkar. d) M. Narasimham.
Who is known as the Father of Economics ?
a) David Ricardo. b) J. B. Say.
¢) Thomas Robert Malthus. d) Adam Smith.
In economic theory the term “Laissez Faire" implies :
a) Other things being equai.
b) Non-interference of government in economic activities.
¢) Pricesareincreasing.
d) None of the above.
What can be the maximum gap between two sessions of parliament ?

a) Six months. b) Three months.

¢) One year. d) Not specified in the constitution.

In which year India become a member of UN ?
a) 1948. b) 1947.
c) 1946. d) 1945,
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Which of the following UN organizations is concerned with the welfare of the children throughout
the world ?

a) UNESCO. b) UNICEF.
¢c) WHO. d) FAO.
Which of the following is measured on the Richter scale ?
a) Density of liquids.
b) Intensity of earthquakes.
¢) Velocity of tornadoes.
d) Height of mountains.
The “Drain theory” about poverty in India is associated with :
a) M. Viswesaraiah. b) V.K. R.V.Rao.
¢) Dadabhai Naoroji. d) Subhash Chandra Bose.

Which of the following is exclusively concerned with the credit needs of all types of agricultural
and rural development in India ?

a) IBRD. b) RBI
c¢) NABARD. d) SBIL
Which of the following crops needs maximum water per hectare ?
a) Barley. b) Maize.
¢) Sugarcane. d) Wheat.

is the mother of all revolutions.

a) Russian Revolution. b) French Revolution.
¢) American Revolution. d) Serbian Revolution.
OPEC is the :

a) Organization of Petroleum Exporting Countries.
b) Organization of Pre- European Commission.
¢) QOil Producing Economies Caucus.

d) Organization of Problematic Economies Committee.

Turn over
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36. Infantmortality :

a) Is defined as the number of deaths of infant under 1 year old per 1,000 livebirths in a

year.

b) Is defined as the number of deaths of infant under 5 year old per 1,000 livebirths in a
year.

¢) Is defined as the number of deaths of infant under 6 year old per 1,000 livebirths in a
year.

d) Is defined as the number of deaths of infant under 10 year old per 1,000 livebirths in a
year.

37. Adam Smith advocated :
i) Laissez-faire.
ii) Invisible hand.
ii1) Free-trade policy.
iv) Competitive markets.
a) 1)and ii) only. b) ii) and iii) only.
c) 1),1i) and iii) only. d) 1),1i),iii) and iv).
38. The development of high-yielding varieties (HYVs) of wheat and rice is known as :
a) The agribusiness revolution. b) White revolution.
¢) The Green Revolution. d) Bluerevolution.

39. Progress that meets the needs of the present generation without compromising the ability of future
generations to meet their own needs is called :

a) The tragedy of commons. b) Sustainable development.
c) Net primary productivity (NPP).  d) Sustainable growth.
40. The greenhouse gas effect is the phenomenon by which :
a) DBiological diversity is dominant in agricultural production.
b) The globe’s water pollution affects plankton.
¢) The earth’s atmosphere traps infrared radiation.

d) Climatic changes occur naturally in the forest.
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Monetary policy affects the and
a) Reserve,unemployment. b) Money supply, interestrate.
c) Taxes, exchange rate. d) Stock price, minimum wage.

The Reserve bank of India and the Federal Reserve :
a) Arecentral banks.
b) Arecommercial banks.
¢) Use fiscal policy to influence GDP.
d) Credit money to most of LDC commercial banks.
Economic growth can be measured by :
a) The CPL b) The WPL
c) GDP. d) HDI.

The concept of HDI was evolved by :

a) Morris D Morris. b) Adam Smith.
¢) Keynes. d) Mahbub UIHag.

The phase of gradual fall in income, output and employment is :
a) Boom. b) Recession.
¢) Depression. d) Recovery.

Arrange in the right order the contribution of sectors to the GDP from highest to lowest :
a) Primary, Secondary, tertiary. b) Primary, tertiary, Secondary.
¢) Tertiary, Secondary, Primary. d) Secondary, tertiary, Primary.

The financial year in India is :

a) April 1to March 31. b) January 1 to December 31
¢) March 1 to April 30. d) March 16 to March 15.

Who among the following have been the Union Finance Ministers of India ?
a) P.Chidambaram. b) Dr. Manmohan Singh.
c¢) Y.Y. Reddy. d) Pranab Mukherjee.
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Select the correct answer using the code given below :
a) 1,2 and 3 only. b) 1,3 and 4 only.
¢) 2 and 4 only. d) 1, 2and 4.
India is regarded as a country with "Demographic Dividend". This is due to :
a) Higher share of youth in population.
b) Higher share of old-aged in population.
c) Higher share of workers in population.
d) Higher share of labourers in population.
The proponent of Green Revolution in India ?
a) Madhura Swaminathan. b) M.S. Swaminathan.
¢) Padmini Swaminathan. d) Soumya Swaminathan.
What are gilt-edged securities ?
a) Securities issued by the multinationals.
b) Securities issued by the government.
c) Securities issued by the Banks.
d) Securities issued by the joint venture companies.
Who is the chairman of 15th Finance Commission ?
a) C. Rangarajan. b) N. K. Singh.
¢) Bimal Jalan. d) Vijay Kelkar.
The rising prices is said to be controlled through :
a) Budgetary policy. b) Monetary policy.
¢) EXIM policy. d) None of the above.
A budgetary deficit means :
a) Total expenditure is more than total receipts.
b) Revenue expenditure is more than revenue receipts.
¢) Capital expenditure is more than capital receipts.

d) Total expenditure is more than capital receipts.
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Gross National Income (GNI) is always more than Net National Income (NNI) because, GNI
includes:

a) Foreignincome. b) Depreciation.

¢) Indirect taxes. d) Subsidies.
Real national income denotes :

a) National income at constant prices. b) National income at current prices.

c) Nationalincome at market prices. d) National income at basic prices.
Who is the new Finance Minister of India ?

a) Arun Jaitley. b) Narendra Modi.

¢) Nirmala Sitharaman. d) Piyush Goyal.
Unemployment can officially be defined as :

a) Those who are not working.

b) Those who could not find a job.

¢) Those who seek and available for work but did not get a job.

d) Those who stop searching for a job.
The Head Quarters of United Nations is located at :

a) Geneva. b) New York.

¢) Rome. d) London.
Playing time of the full version of National Anthem is :

a) Approximately 90 seconds. b) Approximately 60 seconds.

c) Approximately 52 seconds. d) Approximately 42 seconds.
The apex organization of industrial finance in India :

a) IDBIL b) RBI.

c¢) ICICIL d) IFCIL
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First share market in India was established in
a) Delhi. b) Mumbai.
c) Kolkata. d) Chennai.
Largest bank in India
a) State Bank of India. b) Canara Bank.
¢) Punjab National Bank. d) Bank of Baroda.
India’s electricity requirements are largely met by
a) Nuclear power stations. b) Hydel power.
¢) Thermal energy. d) Imports.
Which among the following is a Non-conventional source of energy ?
a) Wind. b) Petrol.
c) Coal. d) Oil
Which bank in India performs duties of Central Bank ?
a) Central Bank of India. b) State Bank of India.
¢) Reserve Bank of India. d) None of the above.
Which of these is NOT a continuous data ?
a) Number of students in a classroom in a day.
b) A person’s weight on each birthday.
c) Height of student as measured each day.
d) Patient’s temperature in each day.
Which is the most suitable diagram to represent annual rainfall ?
a) Pictogram. b) Piediagram.

¢) Histogram. d) Line graph.

The sum of deviations of values about Arithmetic Mean is always equal to :

a) Zero. b) One.

¢) Infinity. d) None of these.
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The sum of observations divided by the number of observations is called
a) Arithmetic Mean. b) Harmonic Mean.
¢) Geometric Mean. d) Median.
The rank of India in the Human Development Index 2020 :
a) 129. b) 130.
c) 131. d) 133.
The Planning Commission in India was dissolved in :
a) 1950. b) 2014.
c) 2019. d) 1991.
The Sustainable Development Goals are developed by :
a) World bank. b) WTO.
c) USA. d) UN.
Which of the following committee is related to poverty estimation in India ?
a) Basel Committee. b) Rangarajan Committee.
c¢) Balwantrai Mehta Committee. d) Dave Committee.
The negative slope of the demand curve can be explained by
a) Substitution plusincome effect. b) Substitution plus price effect.
¢) Income effect plus price effect. d) Substitution minus income effect.

When the demand and supply curves shits simultaneously leftwards, then the quantity demanded
will

a) Remain unchanged. b) May increase or decrease.
¢) Increase. d) Decrease.
Which among the following method considers the demand side of calculating National Income ?
a) Product method. b) Income method.
¢) Expenditure method. d) Value added method.
Net addition to the existing stock of capital may be called as :
a) Depreciation. b) Investment.

c) Appreciation of cost. d) Marginal Product of Capital.
Turn over
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80. Choose the correct four sector macroeconomic model

a) C+I+G+(X-M). b) C+I+G+X+M).
¢c) C+I+G+X+M). d) C+I+G+X/M).
81. Which of the following is not included in the calculation of GNP ?
a) GDP. b) Factor income from abroad.
¢) Value of intermediate goods. d) Depreciation.
82. A demand curve is
a) The quantity consumers able to buy.
b) The quantity consumers are willing to sell.

¢) The quantity consumers are willing and able to buy at each and every income all other
things remains unchanged.

d) The quantity consumers are willing and able to buy at each and every price all other
things remains unchanged.

83. Ifincome elasticity is negative, the good is :
(a) Luxury. (b) Necessities.
(¢) Inferior. (d) Superior.
84. The presence of extreme observation affects :
a) Arithmetic Mean. b) Mode.
¢) Median. d) None of these.
85. A market in which there are only two buyers for a commodity is called :
a) Duopoly. b) Duopsony.
c) Oligopoly. d) Oligopsony.
86. Ifgoods X and Y are substitutes, with an increase in the price of Y, the demand for X will :
a) Increase. b) Decrease.
¢) No change. d) Firstincrease and then decrease.

87. First Education Minister of India :

a) Sardar Vallabhai Patel. b) Moulana Abdul Kalam Azad.
¢) Humayun Kabir. d) M. C. Chagla.
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Quit India Movement started in the year :
a) 1940. b) 1941.
c) 1942. d) 1944.
Which sector is the largest employment provider in India ?
a) Textile. b) Agriculture.
c) Services. d) Tourism.
Which Prime Minister first take steps for nationalisation of banks ?
a) Rajiv Gandhi. b) Indira Gandhi.
¢) P.V.Narasimha Rao. d) V.P. Singh.
Which country was India’s biggest trading partner in 2020 ?
a) China. b) USA.
¢) France. d) UAE.
The vicious circle theory states that :
a) Growing government assistance create addiction to welfare programs.
b) Low income levels create pressure for money creation.
c) Low income levels create pressure for cheap imports.
d) Low per capita income creates low savings that keep incomes low.
Which of the following state in India has highest rural Population as per 2011 Census ?
a) Uttar Pradesh. b) Bihar.
¢) Madhya Pradesh. d) Andhra Pradesh.
Committee of decontrolling the prices of Petrol and Diesel in India was headed by :
a) Vijay Kelkar. b) Kirit Parekh.
c) Abhijit Sen. d) C. Rengarajan.
GST was implemented in India from
a) dJuly 1 2016. b) July 1 2017.

¢) July 1 2018. d) July 1 2018.
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National Income in India is estimated by :
a) NITI Ayog. b) RBL
¢) Finance Commission. d) CSO.
Which of the following tax can be levied by the Grama Panchayat ?
a) Sales Tax. b) Income Tax.
¢) Building Tax. d) Land tax.
Which among the following states performs best in terms of Health Index as per NITI Ayog ?
a) Kerala. b) Goa.
¢) Maharashtra. d) Karnataka.
Stand-Up India Scheme is associated with :
a) Small Entrepreneurs. b) Women and SC/ST Entrepreneurs.
¢) Rural Entrepreneurs. d) Poor Entrepreneurs.
The largest Source of national Income in India :
a) Services Sector. b) Agriculture Sector.

¢) Secondary Sector. d) Primary Sector.



